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Exam : Visharad Pratham (First Paper)
Subject : Tabala / Pakhavaj
Date : 20/04/2025 Timing:9amto 12 noon Total Marks - 75

Note : 1) Question 7 is cmpulsory.
2) Solve any 4 out of rest guestions.
3) Same marks are allotted to all the questions.

Q.1) Multiple Choice Questions. (15)
1.~ Whichofthe following Gharanas' solo starts with
Uthaan?
a)Ajarada b) Banaras c¢) None of these
2 The Sam of which Taal is not on the 1% beat?
a) Roopak b) Sooltaal c) None of these
3. Which of the following composition is non-
expandable?
a)Kayda b) Peshkar c) Tukda
4, How are the parts of Taal Pancham Sawari?
a)4-3-4-4 b)3-4-4-4 c)4-4-3-4
5. Manjira is categorized under which instrument class?
a)Ghan b)Avanaddh  c¢)Sushir
6. Which of the following is known as Vakra Layakari?
a)2™ Speed b)4" Speed c¢)None of these
& Which of the following pairs of Taal does not have
same number of beats?

a) Jhaptal-Sooltal b) Roopak-Tevra
c¢)Adachautal-Chautal

8. Which 'Dhaa’in the 2ndcycle of Tihai will be on Sam in
the Farmaishi Chakradar?

a)4" b)2™ c)1*
9. By which beat the 2™ part of Jhaptaal's / Sooltaal's 3rd
speed starts?

a)3% b)3% c)4"
(4)
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Q.3)

in Jhaptal/ Sooltal from which beat you can start the
one part of Roopak's | Teevra's4" speed, to end up on
Sam?

a)7% b)8% c)8"

if Pancham Sawarl's Chatashra jati kaydais playedin
Tishra jati, withoutany changeinthe composition then
it will be categorized inwhich Taal?

a) Ekktal b) Jhaptal c) None of these
How many times 'Din’ comes in Chautal?

a)1 b)2 c)3
'‘Chaupalli'isa composition of type.

a) Gat b) Chakradar c)Kayda

Which of the following taal has noKhali?

a) Roopak b) Sooltaal c)Tevra

How is the 'Biad lay2’ counted?

a)% b) % c)5/4

Explain briefly the terms given with (3x5=15)
example. (Any 3)

Aamad

Peshkar

Kayda

Gat

Stuti Paran

Kamali Chakradar
Explainthe bifurcations of Indian (5+5+5=15)

Instruments. Also, write short notes on 1
Avanaddhaand 1 String instrument.
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Q.4)

Q.5)

Q.6)

Q.7)
Dha)

Ge)
Ti)

Ra)
Ki)

Ta)

After Explaning in detail about the (10+5=15)
rhythm and Laykari, he came to the Same by
writing the Aadi of Rupak/Tevra and
Jhaptaal/Sultaal in the same cycle of Teentaal,

Write the 6 'Taal-Pairs’ names. (3+7+5=15)
Explain the similarities and differences in detail of
any 1 Taal-Pair. Also, write both the 'Taal' (fromthe
selected pair) in Pt. Paluskar Taal notation.

Differentiate between Taal andTheka. (5+10=1 5)
Mention the taal names palyed while
accompanying with Bada Khyal. Also write the 64
beatand 48 beat theka of Bada Khyal.

Write the notations for the following. (3x5=15)
(Any 3)

1 Kayda with 2 Paltas and Tihaiin Taal Pancham
Sawari.

1 Kamali Chakradar in Teentaal / Dhamar,

By using the line 'Tirakita Takata Titkata Gadi Gana
Dha'- Chakradar Tukdain Taal Jhaptaal/ Sooltaal.
2" 3"and 4" speed of Taal Ektaal/ Chautaalin only 1
cycle of Teentaal.

By using the line 'Dhir Dhir Kitataka Takita Dhaa'—
Tihaiin any 1 Taal and Chakradar Tihaiin othertaal.
Taal of 10 beats in the Taal of 15 beats (Pt. Paluskar
Taal notation).
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